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1. Which equation describes the line that passes 6. Which of the graphs below besﬁ{esent the
through the paint (4, 7) and is parallel to the line inequality x +2y <47

represented by the equation -3x + =47
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A p=-3x+19

B yp=3x¥-5
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I 3x+ 3

2. Write a function in slope-interce pt form that
represents a line that contains the point (2, 12) and
b,

Y:m X-fb has a slape of -37
J2= -3(2)¥v

+\5 Which inequality Best represents the graph shown
—kﬂ bie low?
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7. The table below shows various values for x and
C odxsy<? ¥ Which equation best describes the
relationship between xand 7
D Xx+dy=<=8
F) ¥ o= 3K+ 5 X ¥
_ o B Y= —Br -7 6 23
4. Which function includes the data set
[ A A (G C Y= -x+17 -2 3
A yz_l“ea B Y=-2%+3 7 -42
2 D ¥ o=3x+41
1 11 -62
C [ =Ex+8 D y=2x-4
5. What are the intercepts of the linear function 8. Which function includes the following set of
shown below? ordered pairs {1.31,(2,0),3,-3) 7
A =3 0vand 9,0 & y--3x R
B (-3, 0and @ 9
x X
El = — D p—
C (0 3)and O, 9 =3 y=-3-4
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Teach Piece {Problem )
The graph below shows the relationship between the

number of hours Zenia travels at a rate of 60 miles per
hour and the distance she travels.

y Distance Traveled by Zenia

How would the graph change if tﬂe r!te were

50 miles per hour rather than 60 miles per hour?

. The graph would be steeper.
B.) The graph would be less steep.
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.  The y-intercept of the graph would be greater.
— R The x-intercept of the graph would be greater.
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’ sl You will ha,e 4 minutes at

each station. (R-6)

1- Write down important parts of the problem
| (what you would highlight/underline)

- Write why each incorrect answer choice is '
Jwrong. ‘
b - Explain why the correct answer is right. N
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Algebra I - Unit 11: End of Course Review - Meaning and Changes in m& b

Station 2

The amount an appliance repairman charges for each
job is represented by the function {=50h + 35, where h
represents the number of hours he spent on the job
and t represents the total amount he charges in
dollars for the job. The repairman plans to change the
amount he charges for each job. The amount he plans
to charge is represented by the function {=50h + 45.

What will be the effect of this change on the amount
he charges for each job?

A The total amount he charges for each job will
increase by $10.

B The total amount he charges for each job will
decrease by $10.

C The amount he charges per hour will increase by
$10.

D The amount he charges per hour will decrease by
$10.
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Algebra I - Unit 11: End of Course Review - Meaning and Changes in m& b

Station 3

Mrs. Smith calls an air conditioner repair company. She
finds out that a service technician charges $35 to detect
the problem and $20 every 15 minutes thereafter to
repair the problem. The cost of repairing Mrs. Smith's
air conditioner is calculated using the function f(s77) = 35
+ 20772, where m represents the number of 15-minute
intervals the technician works repairing the problem and
f(m) represents the total charge of working on the air
conditioner. If the number of 15-minute intervals is
graphed on the x-axis and the cost is graphed on the )~
axis, which of the following is represented by the -~
intercept of this graph?

A. The number of 15-minute intervals the
technician work on the air conditioner

B. The flat rate the technician charges to detect
the problem

C. The total charge for fixing the air conditioner

D. The amount the technician charges for every
15-minute interval
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Algebra I - Unit 11: End of Course Review - Meaning and Changes in m& b

Station 4

A submarine that operates at a depth of 100 meters is
ascending at a constant speed of 2 meters per second.
The graph shows the relationship between the time in
seconds and the elevation of the submarine. What does
the x-intercept of this graph represent?

Elevation
(meters)
S & A—
—120 1
- a | H i
60 | 40 120 | 20 | 4 60 Time
20 — (seconds)
740
4 .;&D R B R
._..iao ...: 1
~{—-00 1 |
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A. The number of seconds the submarine is submerged
before it begins its ascent.

B. The speed at which the submarine ascends.

C. The number of seconds it takes the submarine to
reach the surface of the water.

D. The elevation of the submarine when it begins its
ascent.
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Algebra I - Unit 11: End of Course Review - Meaning and Changes in m& b

Station 5

A line has the equation y= 3x— 7. If the slope of the line is
doubled and 5 is added to the y~intercept, which equation
represents the new line?

A, y =6x-12
B. y =6x-2
C. y=6x+2
D. y =8x-14
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Algebra I - Unit 11: End of Course Review - Meaning and Changes in m& b

Station 6

Geothermal energy is transferred from heated rocks
below the earth’s surface to water when water comes
into contact with the rocks. The formula

{(d) = 25d + 17 can be used to estimate the Celsius
temperature, {(d), of a rock when the rock is at a
depth of dkilometers below the earth’s surface. If
the depth, in kilometers, of the rock is graphed on the
x-axis and the temperature, in degrees Celsius, of the
rock is graphed on the y~axis, which of the following
is represented by the slope of this graph?

A. A rate of change of 17°C for every kilometer of
depth

B. A temperature of 25°C at the earth’s surface

C. A rate of change of 25°C for every kilometer of
depth

D. A temperature of 17°C at the earth’s surface
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1. The business manager at Afford able Plurmbing
calculates the total cost, 2, to a customer by using
the eguation ¢ =862h+ 38, where & isthe number
of hours of work performed. The business
manager at Leak Free Plumbing calculates the total
cogt, ¢, to & customer by using the equation
¢ =58H+45 , where & isthe number of hours of
wark performed. How does the graph of the
equation used by Affordable Plumbing compare to
the graph of the equation used by Leak Free
Plumbing?

A The slope isthe same, and the wintercept is
greater.

B The slope is greater, and the p-intercept is
smaller.

T The slope is smaller, and the w-intercept is the
same.

00 The slope is greater, and the -intercept is
greater.

2. Mark and his friends are baking cookies for
a bake sale. The graph below shows the total
nurber of cookies they have compared to the
number of hours they bake. How would the graph
change if Mark and hisfriends were given 20
cookies when thev started bakino?
Cookies Baked
100 - - - -
BO}
B0t

Cockies
40 |

20
© 1 2 3 4 5
Time
(hours)

AThe yvalue of the y-intercept would increase.
B The slape would increase.
C The yvalue of the y-intercept would decrease.

0 The slope would decrease.

3. Findthe x and - intercepts of 2% +y ==&

April 24, 2015

An electrician charges a flat fee of $50 plus an
houry rate to make a house call. The graph shows
the total cost for a job based on the flat fee and the
nurnber of hours to complete the job.

A‘UJ
{2, 130)

l 1 2 a

Caost (3)

Number of Hours

4. If the electrician changed his flat fee to $60,
but kept his hourly rate the same, what

would be the total charge for a job that took
3 hours?

5. If the electrician left his flat fee at $50, but
changed his hourly rate to $45, what would
be the total charge for a job that took 3
hours?

6. If the electrician changed his flat fee to $60
and changed his hourly rate to $45, what
would be the total charge for a job that took
3 hours?

7. Which best describes the change in the graph of

the function fx) = 5x + 4% if the y-intercept is

changed to?; ,while the slope remains

constant?

A The line shifts up 2%unit5
B The line shifts tothe right 31— units
= The line shifts up SJT units

O The line shifts down 2;—units.
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